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| OBJECTIVE

[ MAXIMUM MARKS: 20

Q.No.1 | You have four choices for each objective type question as A, B, C and D. The choice which you think is

correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen to fill the
bubbles. Cutting or filling two or more bubbles will result in zero mark in that question.

S# QUESTIONS A B C D
1 | Length of latus ractum of ellipse 2a® al? b? 2p?
2 2 e T — o
x_z + %— =1 is: b b . .
a b
2 | Equation of tangent to circle X%, + Yy =a x¢, -y =a’ | w+xy=a’ | p-xy=a
X' +y* =a’ at (x, ,)is:
3 | If @, B, yare direction cosines
of a vector then 3 1 2 0
cos’ a+cos’ f+cos’ y=?
4 | For what value of 'a' vectors
Si—j+kand ai+3} -3k are =3 3
parallel to each other:
5 | If any two vectors of scalar triple 1
product are equal then value is:
6 2n 8_|
. 1
E:m[ 1+ —) =10
Hi=p ot n
7 2
The function f(x) =X +11 is x=2 x=1
x —
discontinuous at:
8 | Derivative of x’with c
respect to 'x' is:
9 | d Te(x))g’ x))g'(x
{ g 1= FEOIE® | FE@IE)
10 Slope of Slope of
Geometrically i m x — axis tangent
11 tim fla+h)-f(a) f'(x) f'(a+h) f(a)
h—=0
12 tn|fx)|+c | n)f'(x)|+c S
n+l mel n+l
13 (ax +b) - (ax +b) x5 (ax+b) it
a a(n+1) n
14 2"¢n2+c 25 ¥
+c +c
x+1 n2
15
x=asecl x=atané x =siné
16 | All points (x,y) with x<0, y<0 1 Il 11 v
lies in quadrant: i
17 Sl9pe of line passing through X, — X Yo+ W Yy — X, Va—=W
points A(x,., ¥,) and Y= X, +X, v, —x, X, — X,
B(x,, y,) is:
18 | Equation of vertical line through y==5 y=5 x=3 x==3
points (3, —-5)is:
19 | Which of the following ordered LD (3,0) (-2,1) (0,0)
pair does not satisfy 4x-3y<2:
20 | Radius of circle x? + y? =5§is: 5 25 J5 3
2
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INTERMEDIATE PART-H (12" Class) | 2024 (1°-A) | Roll No:

MATHEMATICS PAPER-II  GROUP-I

TIME ALLOWED: 2.30 Hours [ SUBJECTIVE | MAXIMUM MARKS: 80

NOTE: Write same question number and its parts number on answer !mok, as given in the question paper.

SECTION-1 _ , , 7,

2. Attempt any eight parts. il !'N-—-— [— Y 8x2=16

(ii) Datermme whether f (x)=sinx+cosx is even
or odd function.

1 ]
@ | piscuss continuity of g(x)=2 -39 w3 at x=3
: =

(iii) | Define Constant Function. Give one example also. | (iv) Find £ (x), when i 2541 o hare w1
=1

™ | Ditferentiate (J;_ ! ] wart'x'. | pind 2, i 32422 —ax=5
Vx dx
ii viii d
O | Find derivative of * — L,,w.r.t, X O | prove that —[cot™ x]= — —L;, xeR
X" dx 1+x
(ix) | Determine the values of x for which f definedas | (x) | Define Taylor series expansion of function f
f(x)=x*+2x-3 is increasing. at x=a
&) | Eing 'y, , if [2" ki 3) (xii) c o @
Yo, b y=In =0 Find o if y=xe
3. Attempt any eight parts. 8x2=16
() | Find dyif y=x* +2xand x changes from?2 [ (ii) Evaluate I_..___
to 1.8. Vx(x+1)
(ii)) | Evaluate J'cos 3x sin2x dx (V) | Evaluate Isec x dx
W) E 2 (vi) i %
valuste -[ ¥lnxd Evaluate Jsacx (secx + tanx) dx
o
(vii) : ‘ dy Y+l (viii) | Show that the points A(3, 1), B(-2, —3) and
Solve the differsutial equation % a2 C(2,2) are verticé8of an isosceles triangle.
(ix) | Find slope and inclination of the line joining the points (3, —2) and (2,7).
(x) | Find an equation of the line through (-5, —3) and (9, -1).
(xi) | Convert the equation 15y—8x+3 =0 into normal form.
6 Find the angle from the line with slope —_31 to the lin€ witli slope —;-
4. Attempt any nine parts. 9x2=18
(i} | What are Decision Variables? - I (i) l Draw the graph of inequality 2x+3y <12

(ii)) | Find the centre and radius of the circle # + y* - 6x4#y+13=0

(iv) | Check the position of the point (5, 6).with respect to the circle x? + y* =81
p p i Re

(v) | Find the focus and directix ofithe parabola x° = 4(y—1).

(vi) | Write an equation of the ellipse With eéfitre (0, 0) focus (0, —3), vertex (0, 4).

(vii) | Find foci and eccentricityof X3— 2 =9

(Viii) | Find the length of th tangent drawn from the point P (=S5, 10) to the circle Sx* + 5y +14x+12y-10=0

(ix) | Write the diregtion cosines of v =2i+3; +4k.

(x) | Find aWector whose magnitude is 4 and parallel to 2i -3/ +6k

() | Find Q@ where a=3i -2/ +k, b=i+)

(xii) | Find the value of 3i- k x i [ iii) [ 1f a+b+c =0, then prove that @ x b=bx¢
SECTION-II
NOTE: Attempt any three questiu‘ﬂs. 3 x10=30
5. b
® ‘ Show that t’m L log, a ® If x=a cos’ @, y=bsin’ @, show that: a%+btan9=0
X
6.@) |If y=(cos™ x)?, (b) 2
hel g g Show that [a? ~x7 dr = Lsin X+ a7 T 4 ¢
(1- x]yz—xy, -2=0 2 a 2
1@ | Evaluate j X +9x+1 & (b) | Maximize f(x, ¥)=2x+ 5y subject to the constraints
x*+9 2y-x<8, x—-y <4, x=20, y=20

8.(a) | Write an equation of the circle that passes through A(~7, 7), B(5, =1), C(10,0)
(b) | Prove that in any triangle ABC a=bcosC + ¢ cos B

*9.(a) | Find the focus, vertex and directix of the parabola x? —4x—8y+4 =0
"~ | The midpoints of the sides of a triangle are (1, —1), (-4, —3) and (-1, 1).
rind coordinates of the vertices of the triangle.
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